
Corner mount for DWC-XPZA cameras

Quick Start Guide

Tel: +1 (866) 446-3595 / (813) 888-9555

Technical Support Hours: 9:00AM – 8:00PM EST, Monday through Friday

digital-watchdog.com

NOTE:	 Download all your support materials and tools in one place.

  1.	     Go to: http://www.digital-watchdog.com/resources    
  2.	 Search your product by entering the part number in the ‘Search by Product’ search bar. �Results 
          for applicable part numbers will populate automatically based on the part number you enter.
  3.	 Click ‘Search’. All supported materials, including manuals and quick start guide (QSGs) will  

appear in the results.

WHAT’S IN THE BOX

5 x Wall Mount Screws, M8 x 30

4 x Tapping Mounting Screws

1 x L Wrench (6.0mm) (for Wall Mount Screws)

1x Quick Setup Guide

DWC-XPZACNM



Accessories

4 x Machine screws, M8 x 30 4 x Plastic Anchors 6 x 30

4 x Spring Washer, M8 x 30 4 x Tapping Screws

4 x Flat Washer, M8 x 30 4 x Flat Washer, Φ6 x Φ16 x 1.5T

1 x L Wrench(6.0mm)

CORNER MOUNT BRACKET

1. Place the corner mount bracket in the 
desired location on the wall corner.

2. Using the tapping screws and anchors to 
attach the corner mount bracket firmly to 
the wall corner.

3. Use four M8 x 30 screws to attached the 
Wall Mount Bracket or Junction Box on to 
the corner mount bracket.

Accessories

4 x Machine screws, M8 x 30 4 x Plastic Anchors 6 x 30

4 x Spring Washer, M8 x 30 4 x Tapping Screws

4 x Flat Washer, M8 x 30 4 x Flat Washer, Φ6 x Φ16 x 1.5T

1 x L Wrench(6.0mm)

CORNER MOUNT BRACKET

1. Place the corner mount bracket in the 
desired location on the wall corner.

2. Using the tapping screws and anchors to 
attach the corner mount bracket firmly to 
the wall corner.

3. Use four M8 x 30 screws to attached the 
Wall Mount Bracket or Junction Box on to 
the corner mount bracket.

Quick Start Guide

Rev: 08/23
Copyright © Digital Watchdog. All rights reserved.  

Specifications and pricing are subject to change without notice.

INSTALLATION

1  Mark and drill the necessary holes on the mounting surface using the mounting bracket itself.
2  Secure the mounting bracket to the mounting surface using the tapping screws included with 

the mount.
3  Use the four (4) M8x30 screws included to secure the camera’s wall mount and camera on the corner 

mount.


